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B13 FHMNNFETISESRLIENHIRE - BEHE [EHEE]
Ey |@EgEm|REeET| T o On| BECEY | TR HHEIE
EXLS 2,796 38.3 9.7 44 2.0 0.5
24T R SYER (ZHR) 2,157 35.4 9.0 4.4
SYER (ZHR) 234 35.3 9.0 1.2
VDEYHFHR(ZHK) 311 54.2 14.4 78
VEYE (ZHK) 56 64.2 12,5 1.7
95%K#E Of 95%K#E Of 95%K#E O 95%K#E x| 95%K# x| 95%K#E x
<NA ZFR{B| <HhA ZRfl| <hA ZFME| <hAZRfE| <hHA ZFfE| <h/ZFfE
=56.836 p| =8.936 pf#E| =15197 p| =1.153 pfl| =3.284 pfE| =0.827 pfd
fE=0 Be| =00302 B| fE=00017| =0.7643 H| =0.3499 H|=0843 HH
E=3>| HE=3>|E8HE=3>| HE=-3>| HE=-3> B =3>
SRR R FEEE 125 51.9
B 327 424
—HfE 1,757 38.2
95%KH#E O| 95%K#E x| 95%K#E x| 95%KHE x| 95%KH#E x| 95%KHE x
<HAZRE| <HAZFfBE| <hA ZFME| <HhAZRME| <HAZFfE| <HhAZR{E
=10.63 pfE| =0.123 pfE| =2.734 pfE| =2.698 pfl| =3.271 pf#E| =1.689 pfE
=00049 B[ =09404 B| =02549 B =02595 B| =0.1949 E| =04298 B
ME=2>| MmE=2>| mE=2>| BmE=2>| mE=2> @HE=2>
13 FHACNETICESRLIENHIRE -HEHE [BEHEE]ES)
PHE (D | HHEGL | DER(E | DR | N2 (FA mEE
3I) ) ) ) ) mEE
24K 10 48.7 26 74.8 4.1
tHFERA TR A=Y (Z 1K)
A=Y (Z 1K)
VEYEF (ZHE)
VEYER (ZHK)
95%K#E x| 95%7K#E O 95%KH#E x| 95%KHE x| 95%KHE x
<HAZFlB| <hA ZFflE| <H4 ZRMBE| <HhA ZFfB| <h/ =g
=1816 pf#| =37591 p| =2.187 pfl| =2.647 pfE|=515 pfE =
=06115 B| fE=0 B[ =05345 B[ =04493 H| 0.1611 HHH
HE =3> E=3>| @HE=3>| HE=-3> E=3>
SRR R 1.6 4.0
1.9 3.7
46 42
95%K#E x| 95%K#E Of 95%K#E x| 95%K#E x| 95%K# O
<N ZFll| <hAZFfE| <HAZFlB| <h1ZFfE| <Hhs=FfE
=1.033 pfl| =23.325 p|=006 pfE=|=2799 pf| =7432 piE
=05966 H| fE=0 HE| 09704 HE| =02467 H| =00243 H
HE=2> E=2> E=2>| HE=2>| HhE=2>
[£%]
14 FHRICRHSEEVEELANIL
BREE | ey s
| evEc | mREC |BMERE RETIS| FPD5| mms
EXL 2,796 0.1 24 7.3 72.7 13.2 4.3
#2445 AYE(ZHR) 2,157 0.1 1.7 6.6 743 12.9 44
SYH (ZHR) 234 - 5.5 9.3 65.4 14.7 5.1
VEYE (Z ) 311 - 3.6 11.0 69.1 12.7 35
VEYE (ZHK) 56 - 1.7 6.4 74.2 15.8 1.9
95%K# O <HAZ5fHE =29.886 pfiE = 00029 B =12>
SRR R HEEE 125 - 103 15.7 45.2 24.8 4.0
BiarE 327 - 43 116 65.0 15.1 4.0
—herE 1,757 0.2 1.1 5.5 78.1 10.8 43
95%K¥E O <HAZHRfE=127.149 plE=0 BHE=8>
[E&ENREFH]
15 AR BHKE
S *HE
T8 st = T8 3
EH (em) BERE (ke) BERE
2k 2,759 156.9 10.5 51.4 12.8
244 TR SYH (ZH#4K) 2,144 157.1 10.5 51.4 12.7
SYE (ZHK) 227 156.2 11.0 52.3 14.0
VEYH (Z 1K) 307 156.2 10.2 50.6 12.6
VEYH (Z#HKR) 52 158.2 9.4 53.4 14.2
SRR R HEE 124 156.1 9.0 545 15.2
BiRE 323 156.8 10.5 51.6 13.1
—HfE 1,742 157.3 10.5 51.6 12.7
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FHOEFEEREMEELR

UhepEREFRE]
INEEREEE
[£%]
f16-1 REEDRERIKE
Ea | & | Fmen | 503 |PFUER| s | mes
£k 2,796 46.2 8.2 39.5 5.3 0.6 0.3
24 TR SYH (ZHR) 2,157 47.0 8.2 39.6 4.3 0.6 0.2
SEYH (ZHHK) 234 471 8.1 37.3 6.9 - -
VEYH (Z ) 311 42,9 7.0 38.9 10.5 0.3 0.3
VEYE (ZHK) 56 30.7 12.7 47.3 9.3 - -
95%7K#E O <HhAZ5fl =3235 pfE =00012 EHE=12>
HEEHE R HEEE 125 274 8.6 442 16.7 3.1 -
Al 327 447 5.3 39.9 8.1 1.6 0.3
— BB 1,757 48.1 8.9 38.9 3.7 0.3 0.1
95%K# O <HAZHfE=83516 pfE=0 BEE=8>
[£#]
fi16-2 FHOBEIKE
Ea | s | Fmew | 505 |PFUERL cann | maEs

2%

HHFESAT R

AW (Z )

AU (S 1)
VEYH(Z )

VEYER (ZHK)
95%KH#E x <HAZHfE =14513 pfl = 02692 HHE=12>
HEEEHER HEEE 125 53.7 8.3 33.4 - 1.6 3.1
I 327 59.1 5.7 29.9 1.6 - 3.7
—hefE 1,757 67.9 6.2 21.3 0.4 - 4.2
95%7K#E O <hAZFfE=61.639 pfE=0 BHMEE=8>
[£%]
17 BEIFEICFHREERBETRZI LN oK
E# Hot= Ehot= A%
EXL 2,796 14.9 81.1 4.0
24 TR AEYR(ZiHR) 2,157 15.3 80.6 4.2
SYH (ZHR) 234 7.8 87.6 4.6
VEYHR(ZHR) 311 18.9 77.9 3.2
VEYE (ZHK) 56 10.0 88.1 1.9
95%7K#E O <hAZFfE = 14291 pfE =00025 BHEE =3>
SRR R HEEE 125 248 72.1 3.1
BarE 327 18.7 776 3.7
—HerE 1,757 15.0 80.9 4.1
95%K#E O <HAZ5{E =9859 pfE=00072 BHE=2>
[Ho1:]
f17-1 FREERBBETIZIEU,I LT LHEH
e | BIAL| BA B | LokAn mnam| s oen SIS shonn .
E T | amay| ZELES & EREA (q(ﬂ%ﬁﬂ pariye) KENE | TOft EEE
e e BiEhot= 55k Highotz s hot=t=8
EXL
A TR SYH (ZH#4K)
SEYBR(EH#HK)
VEYH (Z 1K)
VEYH (ZHE)
95%K#E x <HAZFfE =21.367 pfE =04367 HHE=21>
SRR R HEE 31 3.4 - 16.4 - 31.2 39.9 9.1 - -
SR 62 - 3.1 11.7 - 20.6 52.8 3.6 8.2 -
—fE 263 - 0.7 75 0.4 21.2 66.0 - 3.9 0.4

95%KHE O <HAZFfE=46559 pfE=0 EFHE=14>
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FHOEFEEREMEELR

UhepEREFRE]
INEEREEE
[£%]
fi18A EHFHIERE
Ea | mor [T phenn | mms
£k 2,796 92.8 1.6 1.4 42
24 TR A=Y (Z1i ) 2,157 93.1 12 14 43
SEYH (ZHHK) 234 928 1.0 1.3 4.9
VEYH (Z ) 311 92.6 3.2 0.7 35
VEYE (ZHK) 56 89.5 8.5 - 1.9
95%K#E O <HAZ3fE =28.395 pfE =00001 EHHE=6>
SRR R FEEE 125 85.6 6.6 3.0 4.8
52 327 92.7 1.9 1.6 3.7
—HfE 1,757 93.7 14 1.0 40
95%K# O <HA Z3fE =23.007 pfE =00001 EHHE=4>
[£#]
188 EEEE (A 2ILIUY)XBEIER
Ea | @0 |ETER bponn| mEE
EXLS 2,796 52.1 42.8 0.3 438
tHFERA TR A=Y (ZHR) 2,157 53.7 41.2 0.3 438
SYH (ZHR) 234 476 46.6 - 58
VEYEF (ZHE) 311 453 50.3 0.3 4.2
VEYER (ZHK) 56 52.1 459 - 1.9
95%K#E x <HAZFfE =11.857 pfE =0.0652 EIFHE=6>
HEREER FEEE 125 31.4 62.1 - 6.5
AiE 327 46.6 49.1 0.6 37
—hefE 1,757 54.2 41.0 0.2 46
95%K#E O <AAZFfE=31.111 pfE=0 BEE=4>
€39
f18C EEEE (Bi<hH)
gu | mor | ETERphenn | mms
EXLY

#H21FR

AW (Z1#4R)

VEYHR(Z )

95%KH#E x <HAZFflE =8997 pfE =01737 BHE=6>
SRR R HEEE 125 40.4 48.4 5.6 5.6
AiLE 327 53.8 38.4 3.8 4.0
—HerE 1,757 62.6 30.0 2.3 5.1
95%7K#E O <HAZFfl = 34574 pfE=0 BEMHE=4>
[2%]
f18D EEHERE OKIFSZD)
ga | zoe | ETE phonn | mEs
EXLY

HHFSAT R

AU (Z#K)

SYR(ZH#K)
VEYHR(ZHK)
VEYHR (=)

95%7K#E X <AAZFfE =4016 pfli=0.6745 BHE =6>

LR

HEE 125 34.0 54.3 53 6.4
SR 327 50.8 410 3.9 43
—fE 1,757 57.6 34.3 30 5.2

95%KE O <HAZRfE=31.234 pfE=0 BHE=4>
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FHOEFEEREMEELR

UhepEREFRE]
INEEREER
CEMF ISR (1]
M18-1 EMFPHEMERIRNEAGHorEE EHEE]
EFNES| 5,

Fiaan| EREEE o0 | mreac
| OEEE giyrpn | ETIEC | T | 2w
= L\f’—m}—&) Eottz ﬁgﬁ;of— hgd otz | TRULEH

- 2] o o) WL f=f=8h
=5
EERA T ST (B

A=Y (= 1# )
VEYH(ZHK)
VEYH(=#K)

SRR

95%7k# O
<hA ZFfE
=10.338 p)
{5 = 00159
B EAE = 3>

95%7K#E x
<hA ZFfE
=1571 pff
=0666 EH
E=3>

95%KH#E x
<hAZFfE
=0 plE=1
BEE=3>

95%7K#E x
<h4AZFiE
=0.987 pfE
=0.8044 B

R = 3>

=1.68 pfE =

95%7K#E x
<h4AZFfE

06414 B
E=3>

AU (S 1)
VEYH(Z )
VEYH (=)

95%IKH#E x
<HIZHFIE
=3.192 piE
=0.363 Hf
E=3>

95%IKH# x
<HAZHFIE
=0.697 plE
=08739 H

= 3>

95%IK#E x
<HAZHFIE
=0.697 plE
=08739 H

= 3>

95%IKH#E x
<HAZHFIE
=6.11 pfl =
0.1064 B
E=3>

95%7KH#E x| 95%KHE x 95%7KH#E x| 95% k¥ O
<hAZFIE| <h/ZFfE <HA—RfE <HAZFIE| <h/ZFfE
=591 pff| =1.327 pfif 27 TE-IT =5035 pfE| =10231 p
=00521 H|=0515 HH ém,gp':2'> =00807 H| f&=0006
HE=2> E=2> - R =2>| BE=2>
f18-1 EHMFIEBER LV ENHoLER [EHEE] ()
Losoc | ETEEE
grsehn | L TR g ommm
E3=TRYOFN ﬁ[;;gﬁé RELE | 204 A%
EX¢ oYL=y _’zhff§,~ mot=t=h
Motzt=dh | e
Motz
EX0Y 4.2
24T R SYH (ZHR)

SRR R
95%KHEE x| 95%KHE x| 95%KE x| 95%KE x
<HAZFfB| <HAZFflE| <hAZFTfl| <HhA=FfE
=2067 pfl| =3.851 pfE| =3851 pffE| =0.156 pfE
=03558 B[ =0.1458 B| =0.1458 B|=0925 EMA
HE=2>| mE=2> @mE=2> E=2>
[£%]
FE19A #RBBICELELED
B Akl 2} T | E&FEE | DLET | 2580 EEE
EXL 2,796 22 438 226 23.3 46.1 1.0
244 TR AV (ZH#HR) 2,157 1.9 44 22.2 23.6 4741 0.9
SYHR (ZHR) 234 3.0 3.6 23.3 225 46.8 0.9
VDEYHR(ZHR) 311 42 8.0 244 225 403 0.6
VEYHR(ZHR) 56 3.2 9.0 21.9 21.3 446 -
05%7K#E O <HA Z5fiE = 21446 pflf = 0.0442 BHEHE=12>
AR HEEE 125 9.1 12.0 33.1 20.8 22.6 24
RS 327 1.6 7.3 27.2 21.2 424 0.3
—herE 1,757 1.5 4.0 20.7 23.8 49.2 0.8
95%K#E O <H4/ZFfl =87.803 pfE=0 HMAE =8>
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FHOEFERREREENE
[hehEREERE]
INEEREER
[&%]
198 #EEMLERLELLD
E#H L% VTN | &FEE | DLET | 280 O
£k 2,796 0.9 1.1 7.2 12.8 77.2 0.8
24 TR AEYR(ZiR) 2,157 0.6 0.9 70 124 785 0.7
ASEYBREH#ERK) 234 12 1.7 6.0 11.4 79.4 0.4
VEYH (Z ) 311 2.0 1.5 10.1 15.6 70.2 0.6
VEYR(ZHE) 56 3.2 5.9 5.3 145 711 -
95%K#E O <HAZHfE = 32978 pfE = 0001 HHEE=12>
SRR R HEEE 125 4.0 72 23.2 22.0 420 16
BilRE 327 1.6 1.3 12.7 16.8 67.3 0.3
—HfE 1,757 0.3 0.7 5.1 1.2 82.0 0.7
95%K# O <HhAZHfiE=184886 plE=0 BIHE =8>
[£%]
f19C ZhZTh BFLEMEKRELELE,
EH Lo VT | &&FEE | DLET | 20 EEE
2 2,796 0.9 2.1 12.3 25.5 58.0 1.1
tHFERA TR ASEYBR(CH#EEK) 2,157 0.6 2.3 11.8 25.6 58.7 1.1
SEYBR(EH#HK) 234 1.2 0.4 12.3 23.2 62.0 0.9
VEYEF (ZHE) 311 2.2 1.7 16.5 26.2 52.7 0.7
VEYF (Z 1K) 56 3.2 5.5 10.1 21.2 56.4 3.5
95%K#E O <HAZH{H =27.958 pflE =00056 EHEHE=12>
SRR SR R HEEE 125 45 7.9 19.3 30.7 36.0 16
I5RlE 327 1.0 35 15.6 26.8 52.7 0.6
—E 1,757 0.5 1.3 11.4 25.0 60.9 0.9
95%K#¥ O <HAZHfE=81.391 pfE=0 HHE=8>
[£#]
119D KN HMEAHRAA T AHEI S TERMABNANKSITELELE,
EX Akl 2} f2LWTLY | &FEE | DLET [ 2580 EEE
2 2,796 1.6 2.8 13.8 24.8 56.3 0.7
24 TR A=Y (ZHR) 2,157 0.9 2.5 13.2 25.8 57.0 0.6
AEYBR(E#HK) 234 2.9 2.1 13.5 19.3 61.3 0.8
VEYE (Z ) 311 42 42 18.7 23.0 49.6 0.3
VEYHR(ZHE) 56 3.2 7.8 10.2 23.1 55.7 -
95%K# O <HAZHR{E=45102 pfE=0 BEHE=12>
SRR R HEEE 125 9.4 6.4 23.2 30.1 30.1 0.8
Bl 327 1.9 4.7 18.1 244 50.7 0.3
—HerE 1,757 0.9 2.2 1.8 25.2 59.3 0.6
95%K# O <HAZHfiE=108528 plE=0 BHE=8>
[2%]
E19E 45D BMYLLERLELEA
E#H LWoh f2VTULN | &FEE | DLET | 280 EEE
2k 2,796 1.7 33 15.1 26.9 52.4 0.7
A TR SEYBR(CH#HEK) 2,157 1.4 2.9 139 215 53.6 0.6
SEYBR(EH#HK) 234 1.6 3.1 15.9 27.9 51.1 0.4
VEYH (Z 1K) 311 3.0 46 21.3 24.3 46.1 0.7
VEYH (ZHE) 56 32 9.4 19.5 17.4 50.5 -
95%/K#E O <HAZF{E =29.538 pflE =00033 BHEE=12>
SRR R HEE 125 5.7 9.4 29.4 233 31.4 0.8
BiLE 327 22 6.0 17.4 25.0 49.1 0.3
—E 1,757 0.8 2.9 137 21.7 54.2 0.6

95%K#E O <hAZFfE =76.268 pflE=0 BHHE =8>
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FHOEFEEREMEELR

UhepEREFRE]
INEEREEE
[£%]
B19F BN IEMEENLZWARLEECELL,
E#H Lot =Ly TLY LEEE SLEET e A EEE
XS 2,796 1.1 16 8.1 155 73.0 0.8
je Ry S-YE (Zitt) 2,157 0.6 1.4 7.1 15.7 74.4 0.8
SEYH (ZHHK) 234 20 14 9.1 14.0 73.0 0.4
VEYH (Z ) 311 29 25 134 15.5 64.9 0.7
VEYE (ZHK) 56 5.2 1.9 139 12.7 66.2 -
95%K# O <HAZHfE=5027 plE=0 HHEE=12>
SRR R HEEE 125 8.0 0.8 15.9 23.0 51.5 0.8
Al 327 2.2 0.9 10.8 18.1 67.7 0.3
—HfE 1,757 0.4 14 7.2 14.2 76.0 0.8
95%K# O <HAZHfE=100529 plE=0 BHE=8>
[£#]
f120A COHFIADREN -FRMGS: A%
- w | 15~2%5 | 25~3%F | 835~4% | 4K5~55 R
EH ERLGL | 1BAXS Mk g g g S5HEMALLE| H#EZE

2%

21 TR AW (Z )
AU (S 1)
VEYH(Z )
VEYH (=)

05% K% x <hAZF(E =15425 pfl =0.6326

BHE=18>

RS REE

05%k#E x <h4AZFfl = 13594 pfE =0.3274 EIFE = 12>
[£%]
E20B COHEFIAQBLEE  ERATHNIEEE: AL
s | mAsL |1smsE| RXE7 | 2RCSP | SRCAR | ARTS7 | shmut | mEE
2 2,796 23.2 17.3 14.0 8.8 7.7 4.3 10.8 14.0
24 TR A=Y (ZHR) 2,157 21.7 18.0 13.8 8.5 8.3 44 1.5 13.9
SYH (ZHR) 234 31.3 1.5 1.3 104 6.6 42 10.2 14.4
VEYE(ZHER) 311 26.8 17.8 15.3 8.9 6.0 3.4 8.0 13.9
VEYHR(ZHE) 56 26.7 18.5 16.0 12.3 5.7 39 74 9.5
95%K#E x <HA i = 26044 pfiE = 0.0988 EFEE =18>
HEEHER HEEE 125 41.2 15.2 12.5 3.4 42 0.9 42 18.4
BB 327 29.8 22.9 14.2 9.0 5.2 2.6 44 1.9
—HerE 1,757 21.4 17.7 14.0 9.4 9.1 5.3 13.6 9.4
95%K#E O <HAZHR{E=81.743 pfE=0 BEHE=12>
[2%]
fE20C COEFIANTNERR—YIZT4EUN) : AL
ma | mAGL [1BRsE | SIEP | 2RTSP | SETAT | 4RSS | shmut | mEE
&k 2,796 29.3 26.1 19.4 58 1.1 0.4 0.4 174
A TR SEYBR(CH#HEK)
SEYBR(EH#HK)
VEYH (Z 1K)
VEYE (ZHER)
95%7K#E x <A Z5fl = 16563 pfE = 0.5533 EIHE = 18>
HEEHRER EEE] 125 483 20.8 6.3 24 - - 15 20.6
AiE 327 33.2 27.9 17.4 7.0 0.6 0.3 - 13.7
—fE 1,757 30.3 26.4 218 5.8 1.3 05 05 13.4
95%K#E O <HhAZHfiE=42331 pfE=0 BHE=12>
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FHOEFEEREMEELR
UhhEi s FRAE]
INFEREER

[£%]
20D COHFSADRKR—YHI5T-8EF: A&

15~25 | 25~3%5 | 3h/A~4%5 | 4B5~57A

Axs | mks | mAxs | mxs |oPAME| REE

E#H BERGL | 1BAXE

£k 2,796 44.8 26.4 8.2 1.0 0.2 0.0 0.1 19.2
24 TR AYER(ZHHR) 2,157 44.8 26.7 8.2 0.9 0.3 0.0 0.0 19.0
ASEYBREH#ERK) 234 44.6 274 8.4 22 - - - 174
VEYHR(ZHR) 311 46.2 24.1 74 1.1 - - - 21.3
VEYE (ZHK) 56 432 22.7 14.7 - 1.7 - 20 15.7
95%K#E O <HAZH{E =36.514 pflE =0.0061 BHE=18>
SRR R FEE 125 50.4 26.5 4.9 - 0.8 - - 17.4
52 327 48.6 26.7 7.7 0.6 0.3 - 0.7 15.4
—HfE 1,757 47.1 27.8 93 13 0.2 0.1 - 14.2

95%IKH#E x <hAZHlE =19.854 pfE = 00699 EHE =12>

[£#]
f20E COBEFEANBENK. SRR ELORHNEBEL) AE

ma | mAGL [ 15RsE| (BZEP | 2RTSP | SPLAR | 4RSS | shmut | mEE

24k 2,796 4.1 30.0 25.1 11.7 5.8 0.8 1.3 21.2
tHFERA TR A=Y (ZHR) 2,157 4.0 30.3 25.1 11.8 5.3 0.7 1.1 21.7
SYH (ZHR) 234 8.4 31.1 22.1 10.5 5.5 0.8 0.4 21.3
VEYEF (ZHE) 311 29 276 27.7 11.3 7.9 1.0 2.6 19.0
VEYER (ZHK) 56 - 32.2 27.9 10.6 13.4 2.0 1.9 12.1
95%7K# O <hA (i = 32386 pflE = 00198 HEE = 18>
HEEEHER HEEE 125 4.0 33.8 32.0 6.4 5.4 0.9 4.0 13.6
I 327 4.0 34.2 27.3 103 8.8 0.7 1.8 12.9
—E 1,757 4.1 31.7 26.9 13.6 6.3 1.0 1.1 15.3

95%7KH#E x <hA (il = 18558 pflE = 00998 HEEE = 12>

€39
H20F COBFSADR-4t: 5%

Em | #EsL | 1B5ARE 1@;%75 zg;;’ﬁﬁ Sg;;’ﬁﬁ 4@;%75 5EALE| ®EEE

2 2,796 3.3 64.4 13.3 1.7 0.9 0.0 0.2 16.2
jet Ry A=Y (ZHR) 2,157 3.4 64.6 12.7 1.7 0.8 - 0.2 16.6
SYBR(Z1H) 234 45 63.8 13.3 1.3 1.6 - - 155
VEYHR(ZHR) 311 24 64.3 145 22 1.0 0.3 0.3 14.9
VEYE (ZHK) 56 2.0 58.3 29.2 - - - - 105
95%K#E x <HA il = 26432 pfiE = 0.0903 B =18>
SRR R HEEE 125 7.1 62.2 13.7 35 0.7 - - 12.9
AiLE 327 4.4 66.7 14.7 2.9 1.3 - - 10.0
—HerE 1,757 2.3 70.3 13.6 1.2 0.9 0.1 0.2 1.5

95%7k#E O <hAZFfE =23905 pfE =0021 BHHE=12>

[£#]
B20G COBEFIADENEL: AE

15~25 | 25~3%5 | 3hA~4%5 | 4B~57

Mx# | mkE | mkE | Axs |SOAMLE| mEE

B BERGL | 1BAXE

3%

HHFSAT R AU (Z#K)
SYR(ZH#K)

VEYH (Z 1K)
VEYH (ZHE)
95%K#¥E x <hAZ5FfE =8937 pllE=09612 BHE=18>

LR

95%7K#E x <A ZFfE =2092 pfiE =09993 BMHE=12>

_46_



FHOEFEEREMEELR

UhepEREFRE]
INEEREEE
[£%]
f20H COHEFSADEF -AI—I+v0ORE: A%
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HHFSAL TR

95%7K#E x <AL ZFfE =137 pfE =0.7484 BHHE =18>
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A=Y (= 1# )
VEYH(ZHK)
VEYH(=#K)
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95%KH#E x <hAHFfE=7294 pfE=08376

REsE

BHE=12>

[£#]

21 BEEHBEOREOHE

gy | BT BTIOT bpsnn | mEE
EXL 2,796 12.0 81.3 2.0 4.7
tHFERA TR A=Y (ZHR) 2,157 7.8 85.4 1.8 49
A=Y (Z 1K) 234 10.3 81.7 2.9 5.1
VEYEF (ZHE) 311 325 61.9 1.8 38
VEYER (ZHK) 56 50.5 457 1.9 1.9
95%7K#E O <hAZFfl =242.26 pfE=0 BHEE=6>
HEREER HEEE 125 56.3 35.0 48 39
I 327 25.8 67.9 1.9 4.4
— BB 1,757 6.4 88.1 1.3 4.1
95%K#E O <HhA ZH{E = 354501 pfE=0 BHE=4>
[ZFE>TLVELY]
f21-2 HPEMBZEZTRoOTLVENELIER
EX E51LC | Bhbmi b_fﬁha_ﬂ'é o h‘.\a@%é EEHSE | ZTOfh EEE
Uy i et i3 73 + hiaghot=| Mofz
EXL 2,277 19.9 0.7 0.9 65.4 5.4 4.9 0.9 1.9
24 TR A=Y (ZHR) 1,845 19.9 0.6 0.9 66.2 5.0 4.9 0.6 2.0
SYH (ZHR) 192 19.6 0.6 1.0 65.3 6.9 4.0 - 2.6
VEYE(ZHER) 192 16.0 1.6 0.6 63.8 7.7 6.2 35 0.5
VEYE (ZHK) 26 54.5 - - 345 34 3.4 42 -
95%K# O <HA Z5fl = 50847 pfE = 00001 EFE = 18>
SRR R HEEE 45 36.2 9.0 6.2 284 9.3 2.6 8.2 -
BarE 223 25.3 05 14 55.4 7.1 7.5 2.3 -
—HerE 1,549 18.9 0.5 0.4 69.0 4.7 4.7 0.5 1.3
95%7KH#E O <HAZFflE = 143546 pfE=0 BHEE=12>
[2%]
f24 TFHEHBZELHEE
LWDLBR| BRBIES | BRANZ .
E# | 5GE5 | #20GE |Srs0ncE VIEEY | g
=) 123.48) | 121.28) <
EXL 2,796 86.0 5.1 45 35 0.9
244 TR SEYBR(CH#HEK) 2,157 87.5 50 338 2.9 0.8
SEYBR(EH#HK) 234 83.6 438 6.1 42 1.2
VEYH (Z 1K) 311 79.0 5.8 8.1 6.1 0.9
VEYH (ZHE) 56 83.3 9.2 - 75 -
95%k#E O <hA il =32038 pfE =00002 EHE=9>
SRR R HEE 125 73.0 9.5 98 78 -
SR 327 83.3 6.0 55 4.9 0.3
—fE 1,757 88.9 45 3.7 2.9 0.1

95%KHE O <HAZFfE=33027 pfE=0 EHE=6>
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£k 2,796 28.8 20.9 28.8 124 8.2 0.9
24 TR ASEYR(CH#HRE) 2,157 29.1 215 29.0 12.4 6.9 1.0
ASEYBREH#ERK) 234 36.0 19.3 26.9 9.7 7.1 0.4
VEYH (Z ) 311 23.4 18.7 25.9 145 16.6 1.0
VEYR(ZHE) 56 224 17.0 405 9.5 10.7 -
95%K#E O <HAZHfE=4807 plE=0 HAEE=12>
SRR R HEEE 125 20.9 20.0 28.2 14.3 15.1 16
BilRE 327 25.2 220 28.9 12.7 10.6 0.6
—HfE 1,757 298 21.0 29.2 13.0 6.9 0.2
95%7K#E O <HhAZFfE =19515 pfE =00123 EHHE =8>
[£%]
258 FHEANSEEHHLTER (FryFR—ILEE)
E FEER El:lial~4 5@[:E1|~2 ﬁ[:|§1|~2 &)o(:\[:’fi mEE
2 2,796 24 4.4 23.2 33.7 35.1 1.2
tHFERA TR ASEYBR(CH#EEK) 2,157 23 4.7 22.9 34.0 35.0 1.2
SEYBR(EH#HK) 234 29 2.7 25.9 38.7 2738 1.9
VEYEF (ZHE) 311 3.0 3.0 22.8 30.8 39.4 1.0
VEYF (Z 1K) 56 1.7 3.9 33.8 19.2 414 -
95%K#E x <HAZH{H =20216 pfE =00631 HEE=12>
SRR B HEE 125 15 49 16.9 30.1 458 0.7
I5RlE 327 2.1 2.3 30.8 26.9 37.3 0.6
—E 1,757 1.9 4.6 22.8 37.0 33.1 0.7
95%K#E O <4/ =5l = 2849 pfE = 00004 EMEME=8>
[2#]
f25C FHEQVEL—AS —LTHERN(TFLES =LYV T —L-EHS —L1E)
8 FEE8 i@l:§~4 i@l:érz FII:E1|~2 &)a{:\[:’ﬁi mES
EX% 2,796 3.4 5.1 16.0 19.2 55.2 1.1
tHERA TR SEYBR(CH#HEK) 2,157 34 5.1 16.0 19.5 54.9 1.1
SEYBR(EH#HK) 234 438 6.8 19.2 18.6 48.9 1.6
VDEYER (ZHER) 311 32 43 12.2 16.8 62.9 0.6
VEYH (Z1HK) 56 1.9 3.6 23.0 285 431 -
95%K#E x <HAZH{HE =20.193 pfE =00635 EHEE=12>
HEEEHRER HEE 125 8.0 5.5 17.0 15.0 54.5 -
R 327 39 4.1 19.4 19.2 52.9 0.6
—E 1,757 2.9 5.7 15.6 19.7 55.6 0.5
95%7K#E x <HhAZIfE =15.224 pfE =00549 BHE =8>
[£#]
f25D FHEN—FHS —LBRETHEN (ST - R—FF—L-FH4E)
0 FZER :@l:§~4 5@[:&~2 Hl:lé~2 &)o(:\[:t; I
2 2,796 0.4 2.0 14.4 41.7 403 1.1
244 TR AV (ZH#HE) 2,157 05 1.9 14.3 43.3 38.8 1.1
SYHR (ZHR) 234 0.4 3.0 17.2 36.5 418 1.1
VEYHR (ZHR) 311 - 2.0 13.1 34.6 49.0 1.3
VEYHR(ZHR) 56 - 35 12.6 39.2 448 -
95%K#E x <HAZ5fE =19.606 pfE = 00749 B =12>
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95%7KH#E x <HAZFfE =12669 pfE =0.1238 HHE =8>
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SYBR(Z1H)
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VEYH(ZHR)

95%/K#E x <HAZF(E =16.059 pfE =0.1885 BHE=12>

SRR R HEEE 125 54.9 245 13.0 3.7 3.1 0.8
Al 327 61.5 20.8 135 24 1.6 0.3
—iE 1,757 65.0 18.3 12.2 3.6 0.5 0.4

95%7K#E O <AHAZFfE =19.378 pfE =0.013 HMHE =8>
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f25F FHEBUARFE HEMBLLEND=1—ADFEET S
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E
=]
%

EXL

24T R A=Y (ZHR)
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VEYEF (ZHE)
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95%KH#E x <HAZFfE =16598 pfl =0.1654 EHHE = 12>

HEEEHER HEEE 125 17.9 115 28.6 14.7 23.4 39
I 327 17.3 23.2 30.1 12.8 13.0 3.7
—hefE 1,757 19.6 23.4 278 13.2 11.9 4.1

95%K#E O <HAZFfE=21.177 pfE=0.0067 HAE =8>
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EXL
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05%K#E x <HAZ5fE =13.021 pfE =0.3675 EHHEE=12>

SRR HEE 125 40.7 227 18.7 3.2 9.9 4.8
R 327 38.5 23.7 225 6.4 50 4.0
—E 1,757 37.7 26.1 23.1 55 3.6 3.9
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EXL
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VEYH(ZHK)

VEYE (ZHK)
05%K#E x <HAZ5flE = 12224 pfiE =04279 BHAE=12>
SRR R FEEE 125 14.3 10.6 448 24.2 2.1 39
B 327 74 145 49.4 23.8 1.3 3.6
—HfE 1,757 3.7 14.6 57.8 19.2 0.7 3.9
95%K#E O <HAZHfE=48599 pfE=0 BEE=8>
[£3%]
26 BEI1EBOKEBRA FEKBIZTC
N | TLNED
% w3 | wums | SOEH homs | mEE
T) " T)
EXLS 2,796 54.4 2.7 14.0 27.6 1.2
tHFERA TR A=Y (ZHR) 2,157 55.0 2.1 14.4 274 1.1
SYH (ZHR) 234 55.6 45 1.1 26.3 25
VEYEF (ZHE) 311 51.6 5.3 13.3 29.2 0.6
VEYER (ZHK) 56 414 3.1 14.3 39.3 1.9
95%K#E O <HAZHFfl =21.826 pfE =00094 EIFHE =9>
HEEEHER HEEE 125 32.4 28.5 141 24.2 0.8
I 327 51.3 6.6 145 271 0.6
— BB 1,757 57.4 0.2 14.0 28.0 0.4
95%7K# O <HAZHfE=381.381 pfE=0 HME=6>
[£%]
f26 BE1EEDKERB EYEE-RIPE- EMELL 1<
HN(EEE | L TLNEZED
x| w3 | wamEs | SUEH bhoms | mEs
T) " )
EXL

HHESLT R

AU (Z )

ASYBR(Z1#HHK)
VEYF(Z )
VEYH (=)

95%K#E X <HAZHfE = 11.547 pfE =0.2401 EHE =9>
SRR HEE 125 44.9 26.2 12.3 15.9 0.7
R 327 61.3 238 11.1 245 0.3
—heE 1,757 73.2 0.1 8.3 18.0 0.4
95%K#E O <HhAZH{E=434797 plE=0 BHE=6>
[£%]
126 BEIEBOEERC Fro o\ —A_Xa1—(13<
LN (1 N AAYE )}
mn | we | maws | 500 R0ST | mo
T) " )
2 2,796 49.0 34 124 34.0 1.3
244 TR AV (ZH#HE) 2,157 49.0 25 12.9 345 1.2
AV (Z#HK) 234 57.5 46 7.3 28.4 22
VEYHR (ZHR) 311 43.0 7.9 114 36.4 1.3
VEYHR(ZHR) 56 45.1 1.6 15.6 37.7 -
95%K#E O <H4/ZFfl = 42404 pfE=0 HAKE=9>
HEEHER HEEE 125 226 33.2 14.1 29.2 0.9
RS 327 48.1 6.4 12.9 31.8 0.9
—HRE 1,757 52.7 0.6 12.1 34.0 0.6
95%K#E O <HAZH{E=407.195 plE=0 BHE=6>
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b DFIFT) ©
£k 2,796 62.2 39 7.7 25.2 1.0
24 TR AYER(ZHHR) 2,157 62.9 33 8.0 24.8 1.0
SEYH (ZHHK) 234 62.8 46 6.3 25.1 1.2
VEYHR(ZHR) 311 56.5 79 7.1 28.1 0.3
VEYE (ZHK) 56 62.8 3.1 39 28.2 1.9
95%K#E O <HAZ3fE =21.306 pfE=00114 EHHE=9>
HEEHE R FEEE 125 39.1 29.1 8.6 23.2 -
52 327 53.0 10.6 6.2 30.2 -
—HfE 1,757 67.0 0.6 79 240 0.6
95%K# O <HAZHfE=33023 pfE=0 BHEE=6>
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R 55 | womEm | S0 Gnme | mEs
© DFIFT) ©

2%

HHFESAT R

AW (Z )
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95%7KH#E x <HAZFfE = 13406 pfE =0.1451 BHHE=9>
HEEEHER HEEE 125 55.7 345 24 6.5 0.9
I 327 77.0 10.6 5.0 6.8 0.5
—E 1,757 83.9 1.0 5.4 8.7 1.0
95%K#E O <HhAFHfiE =355089 pfE=0 BHE=6>
[£%]
27 FHEDFEISOVTHREE (T -H#IK-BES)
CNETH
E#H KKFB | FFEITTD |HFEYLAL I:L;::t;bf EEE
FLy
£

HHESLT R
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ASYBR(Z1#HHK)
VEYF(Z )
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95%K#E x <HAF{H = 14407 pfE =0.1086 EIHE=9>
SRR HEE 125 24.1 56.9 15.1 40 -
R 327 25.2 63.1 10.8 1.0 -
—H&E 1,757 31.4 57.3 9.6 15 0.2
95%K#E O <HAF{HE =16.223 pfE =0.0126 EHE=6>
[£%]
28 BEDELLAE
ma | FEPLY| VROV ma | evsln | xzEln| mEs
EXL 2,796 23 12.0 49.4 27.9 7.8 0.7
244 TR AV (ZH#HE) 2,157 26 12.7 50.7 26.8 6.6 0.7
SYHR (ZHR) 234 0.8 12.8 44.9 30.0 10.7 0.8
VEYHR (ZHR) 311 2.0 8.8 445 31.7 12.7 0.3
VEYE (ZHK) 56 - 3.9 43.1 41.1 12.0 -
95%K# O <HA il = 39.561 pfiE = 0.0001 EHE =12>
AR HEEE 125 - - 10.7 38.4 51.0 -
BiarE 327 1.3 41 32.0 43.2 18.8 0.6
—HRE 1,757 3.2 15.5 53.6 25.1 24 0.3
95%7K# O <hA Z5FfH = 584.935 pfE=0 BEE =8>
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! 2 BLTWS | FYEFY | LTLVEL T3
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HHFSAL TR

A=Y (Z 1)

A=Y (= 1# )

VEYH(ZHK)
VEYH(=#K)

95%7K#E x <HAZFEfl =21.084 pflE =0.1342 EEHE=15>
SRR R HEEE 125 31.9 30.5 32.9 2.3 1.6 0.7 -
BilRE 327 10.0 24.9 37.8 48 20.2 1.5 0.9
—iE 1,757 2.1 8.8 33.1 1.7 420 14 0.9
95%K#E O <HA i =422628 pfE=0 BHE=10>
[£3%]
30 BEIFHTRANERLM > 1-EER
B E<hot &%trzc%o ihflg&ao i;\i;;:& mEs
EXLS 2,796 0.9 238 6.0 89.5 0.8
tHFERA TR ASEYBR(CH#EEK) 2,157 0.7 2.0 5.4 91.2 0.7
SEYBR(EH#HK) 234 1.0 4.7 8.0 85.5 0.9
VEYEF (ZHE) 311 1.0 6.9 8.9 82.7 0.6
VEYF (Z 1K) 56 1.7 - 338 94.5 -
95%K#E O <HAFfE=4156 pfE=0 HHEE=9>
SRR B HEE 125 11.2 35.8 25.6 27.4 -
AiE 327 0.6 45 16.7 78.2 -
—herE 1,757 - - 26 97.1 0.3
95%7K#E O <HAZFfE=1007.062 pflE=0 BME=6>
[£%]
E31 BEIERMTRENEZ LA S BER
g <ot :':%E—%?i;? iﬂlf&’:o i;\tj;_tt mES
£ 2,796 15 3.2 8.7 85.9 0.7
tHERA TR SEYBR(CH#HEK) 2,157 1.3 26 7.8 87.7 0.6
SEYBR(EH#HK) 234 1.2 5.2 11.3 80.9 1.3
VEYH (Z 1K) 311 25 5.0 13.9 78.4 0.3
VEYH (Z1HK) 56 1.7 1.6 1.9 94.8 -
95%7ki# O <H4=Ffl = 33488 pfE = 00001 EFE=9>
HEEEHRER HEE 125 223 315 28.7 175 -
R 327 1.4 8.3 20.8 69.6 -
—heE 1,757 - - 5.4 94.4 0.2
95%K#E O <hH4/Z5fl =1028.432 plE=0 HEE=6>
[£%]
f32 BEIEMOY—EX-HEOXRILVEEA EiEHSE
FYLAL
EH Hot= otz |GASREN| EEE
LY)
2 2,796 2.9 92.8 3.3 0.9
244 TR AV (ZH#HE) 2,157 23 94.0 29 0.8
AV (Z#HK) 234 3.4 88.9 6.4 1.3
VEYHR (ZHR) 311 5.7 89.8 35 0.9
VEYHR(ZHR) 56 5.1 89.6 5.3 -
95%7k#E O <hA Z5fl =22788 pfE =00009 BHHE =6>
AR HEEE 125 30.7 66.8 25 -
BiarE 327 6.6 89.1 43 -
—herE 1,757 - 96.8 3.2 -
95%K#E O <HAHRfiE =432829 plE=0 BHE=4>
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F32 BEIFHOY—EX-HEDORLWEEB ERHE
ZHLAL
E#H ot Thvotz |GLOREN  EEE
L)
EXLS 2,796 2.6 928 3.6 1.0
je Ry ASEYR(CH#HRE) 2,157 20 94.3 2.8 0.9
ASEYBREH#ERK) 234 33 86.3 9.0 1.3
VEYH (Z ) 311 5.7 89.8 3.2 1.3
VEYR(ZHE) 56 1.7 86.3 12.0 -
95%K# O <HAZHfE=53035 pfE=0 BEE=6>
SRR R FEEE 125 29.0 66.9 4.0 -
BilRE 327 5.7 88.1 6.1 -
—HfE 1,757 - 96.8 32 -
95%K#E O <HAZHfE =424471 plE=0 BHE=4>
[£%]
E32 BEIEHOY—EX-HEDORILVEEC HRHS
LA
EH ot Ehvotz |FASREN| EEE
ELY)
EXLS 2,796 2.5 89.6 6.9 1.1
tHFERA TR ASEYBR(CH#EEK) 2,157 1.9 90.9 6.2 1.0
SEYBR(EH#HK) 234 3.0 83.0 12.7 1.3
VEYEF (ZHE) 311 5.8 87.3 5.7 1.3
VEYF (Z 1K) 56 1.7 84.5 13.9 -
95%K#E O <HAZHfE=37.095 pfE=0 BHE=6>
AR HEE 125 29.0 64.4 6.6 -
AiE 327 5.1 85.2 9.6 -
—herE 1,757 - 93.4 6.6 -
95%7K#E O <AHAZFfE =431.643 pfE=0 BHE=4>
[2#]
E32 BEIEHOY—EX-HEDORLVEED KiEHEE
ZHLAL
E#H ot ootz |GOREN  EEE
7ELY)
EXL 2,796 2.6 92.6 3.9 0.9
tHERA TR SEYBR(CH#HEK) 2,157 2.1 94.2 2.8 0.8
SEYBR(EH#HK) 234 1.7 87.5 9.5 1.3
VDEYER (ZHER) 311 5.8 88.5 4.7 1.0
VEYH (Z1HK) 56 1.7 86.3 12.0 -
95%K#E O <HAZHfE =53497 pfE=0 BHE=6>
SRR HEE 125 30.8 64.3 4.9 -
R 327 438 88.1 7.1 -
—heE 1,757 - 96.7 33 -
95%K#E O <HhAZH{E=489.773 plE=0 BHE=4>
[£#]
32 BEIFMOY—ER-HEORLVWELEE RE
ZELAL
EH Hot= ahof |GOREN EEE
LY)
2 2,796 1.7 66.2 29.2 2.9
244 TR AV (ZH#HE) 2,157 1.1 67.7 28.6 2.6
AV (Z#HK) 234 1.0 48.6 46.1 43
VEYHR (ZHR) 311 5.8 71.1 20.6 2.5
VEYHR(ZHR) 56 1.9 55.2 39.3 35
95%K#¥E O <HAZRfE=849 pfE=0 BHEE=6>
AR HEEE 125 20.1 52.0 27.9 -
Bl 327 43 64.6 31.1 -
—herE 1,757 - 68.5 31.5 -
95%K#E O <HA Z5fiE = 283577 plE=0 BHE=4>
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£k 2,796 1.1 69.7 26.4 2.8
je Ry ASEYR(CH#HRE) 2,157 1.2 73.6 23.1 22
ASEYBREH#ERK) 234 0.5 61.9 35.0 2.6
VEYH (Z ) 311 0.6 56.6 36.9 5.8
VEYR(ZHE) 56 1.7 40.9 51.7 5.7
95%K#E O <HAZHfE=66.197 pfE=0 BEE=6>
SRR R FEEE 125 6.1 38.9 45.9 9.2
BilRE 327 24 60.4 34.1 3.1
—HfE 1,757 0.3 748 24.1 0.8
95%K#E O <HAZHfE=114568 plE=0 BHE=4>
[£%]
32 BEIFEMDY—EX-HEDOKRILVEEG TOMDER
BZELAL
EH otz ahof |GOREN EEE
L)
EXLS 2,796 3.9 57.8 34.9 3.4
tHFERA TR ASEYBR(CH#EEK) 2,157 3.0 59.9 34.3 2.9
SEYBR(EH#HK) 234 5.9 50.2 39.7 42
VEYEF (ZHE) 311 6.6 532 34.4 58
VEYF (Z 1K) 56 9.1 48.9 41.9 -
95%7K#E O <HA 5l = 25662 pfiE =0.0003 HEE =6>
SRR AR HEE 125 28.0 32.5 35.4 4.2
AiE 327 8.5 51.8 36.2 35
—E 1,757 1.1 61.7 35.8 15
95%K#E O <H4/Z5fl =280.88 pfE =0 EFAME=4>
[2#]
133 BESEEDERE R
o[l B%x
E#H SEHERE 1E 2[H 3ELLE EEE
YA
£ 2,796 70.7 218 5.4 1.3 0.9
tHERA TR SEYBR(CH#HEK) 2,157 73.2 20.2 438 1.0 0.9
SEYBR(EH#HK) 234 69.0 22.2 6.4 1.2 1.3
VDEYER (ZHER) 311 58.5 30.6 7.7 26 0.7
VEYH (Z1HK) 56 66.0 25.4 7.1 1.6 -
95%K#E O <HAHfE=33.11 pfE=00001 EHE=9>
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2 2,796 46.8 48.4 3.6 1.2
244 TR AV (ZH#HE) 2,157 46.1 49.6 3.1 1.3
SYHR (ZHR) 234 45.2 47.9 5.7 1.2
VEYHR (ZHR) 311 50.7 437 5.6 -
VEYHR(ZHR) 56 47.2 474 1.7 38
95%7K#E x <HAZF{E=11.724 pfE =0.0684 BHE=6>
AR HEEE 125 43.9 28.5 27.6 -
BiarE 327 43.0 47.2 9.2 0.6
—herE 1,757 48.9 50.1 0.4 0.5

95%K#E O <A1 ZFfE=324086 pfE=0 EHE=4>
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EERHMER FEEE 125 73.3 4.1 226 -
BilRE 327 89.0 6.2 45 0.3
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EXLS 2,796 85.3 8.0 5.2 1.5
tHFERA TR ASEYBR(CH#EEK) 2,157 86.9 8.0 39 1.2
SEYBR(EH#HK) 234 80.1 9.6 8.5 1.8
VEYEF (ZHE) 311 80.7 75 95 2.3
VEYF (Z 1K) 56 80.0 7.4 10.7 1.9
95%K#E O <HAZHfE=29878 pfE=0 BHE=6>
SRR B HEE 125 56.5 3.3 39.3 0.9
AiE 327 83.2 4.6 1.3 0.9
—E 1,757 88.0 95 1.7 0.8
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Ea | Ltws |harels| BT mms
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£ 2,796 53.9 315 12.7 1.9
tHERA TR SEYBR(CH#HEK) 2,157 55.0 31.9 11.4 1.7
SEYBR(EH#HK) 234 49.6 33.0 15.6 1.8
VDEYER (ZHER) 311 49.9 30.0 17.6 25
VEYH (Z1HK) 56 55.4 30.3 12.7 1.6
95%K# O <HhAZ5fE =13.797 pfE =0032 BHE=6>
HEEEHRER HEE 125 258 115 61.8 0.9
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244 TR AV (ZH#HE) 2,157 98.9 0.2 0.4 0.4
SYHR (ZHR) 234 975 1.6 - 0.9
VEYHR (ZHR) 311 98.3 0.7 0.7 0.3
VEYHR(ZHR) 56 100.0 - - -
95%K#¥ O <HAZHfE =13.986 pfiE =0.0298 HHEE=6>
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BiarE 327 97.8 1.3 0.6 0.3
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tHFERA TR SEYBR(CH#HEK) 2,157 97.7 0.8 0.8 0.7
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EXL 2,796 98.6 0.4 0.5 0.6
tHERA TR SEYBR(CH#EEK) 2,157 99.0 0.3 0.2 0.6
SEYBREH#HK) 234 98.7 - 0.4 0.9
VEYH (Z 1K) 311 96.7 1.0 23 -
VEYH (Z1HK) 56 98.4 1.6 - -
95%K#E O <HAZHfE=33882 pfE=0 BHE=6>
HEEHE R HEE 125 94.6 2.3 32 -
R 327 98.2 1.2 0.6 -
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2 2,796 1.9 1.1 2.7 0.2
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AV (Z#HK) 234 1.7 0.4 2.5 -
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95%7k#E O| 95%k# Of 95%k#E O| 95%k# Of 95%k#E O 95%k#E O 95%Kk# O 95%k#E O
<HAZFME| <HhA ZFflE| <hA ZFME| <hA ZFfB| <HA ZRME| <HhAZRfl| <h1 ZFfE| <h(ZFifE
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=11.323 p| =7.649 pflE| =35971 p| =45054 p| =21547 p| =6.912 pfl| =4343 pflE| =44.472 p
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€39
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SYH (ZHHKR) 234 1.7 20.5 1.4 0.5 0.4 22.3
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VEYE (ZHK) 56 3.6 12.9 5.8 - - 125
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SRR R FEEE 125 5.4 30.9 7.0 - 1.6 15.1
BiE 327 1.2 24.0 25 0.3 0.6 19.3
—HefE 1,757 0.4 12.0 1.4 03 03 244
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fE36 REE (BH) OREFE (L)
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£ 19 335 2.5 0.2 0.2 18
tHERA TR SEYBR(CH#EEK) 19 34.9 25 0.2 0.0 0.8
SEYBR(EH#HK) 20 28.7 1.8 - - 22
VDEYER (ZHER) 19 31.1 30 0.3 0.4 3.2
VEYH (Z1HK) 21 21.1 34 - 1.9 17.4
95%K#E O <HAZHfE=78018 pfE=0 BHHE=30>
HEEHE R HEE 21 15.3 0.8 0.8 - 24
BiLE 20 28.1 0.7 0.6 0.3 24
—iE 17 39.1 35 0.2 - 0.9
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SYHR (ZHR) 229 93.1 5.7 - 1.2
VEYHR (ZHR) 300 92.2 5.6 0.4 1.8
VEYHR(ZHR) 45 95.7 - - 43
95% K% x <HAZZfE =10872 pfE =00924 BHE=6>
AR HEEE 122 87.8 11.3 - 0.9
BiE 318 92.6 5.3 0.4 1.7
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95%K#E x <HAZFfl =29.142 pfE =0.1106 BHEE =21>
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VEYE (ZHK) 56 11.0 22.9 38.2 18.6 3.9 5.3
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FHOEFERREREENE
[hehEREERE]
INEEREER
[&%]
f46F N\O—7—%
g | UL | LTS RSO RIS
s #LICE Pir--piay Mofeit, | BFTEEAY | O PITEA mE
BBD | fitmots EREN | ELVD5 | hhdi e
S I Motz otz
EXLS 2,796 205 69.0 1.7 1.1 3.6 42
je Ry SYH (ZHR) 2,157 18.9 71.8 1.6 1.0 35 32
ASEYBREH#ERK) 234 20.6 66.5 2.7 2.1 38 4.3
VEYH (Z ) 311 29.9 56.8 1.3 1.0 40 7.1
VEYR(ZHE) 56 26.6 55.5 1.7 - 55 10.7
95%K#E O <H4 ZFfE = 3402 plE = 00007 EMHE=12>
SRR R HEEE 125 40.0 38.0 55 1.8 9.9 4.8
IEE2IE] 327 26.9 60.4 34 1.2 43 38
—HfE 1,757 18.3 74.4 13 1.0 25 24
95%K# O <HAZHfE=100444 plE=0 BHE =8>
[£%]
146G LRI D2 HOHEEE
| AEERLEL Bt *E%_ﬁ&%laajb HHT D&
0 MBLICE| S T Mofedt, | BRTEE A [ BOTTiEA A
nHd FEE—— ERBEN | ELD5 | ook =
= Hot= otz otz
2 2,796 58 74.8 1.1 0.5 8.6 9.3
tHFERA TR ASEYBR(CH#EEK) 2,157 5.1 71.1 0.9 0.4 7.9 8.1
SEYBR(EH#HK) 234 4.0 75.0 2.6 0.9 9.0 8.4
VEYEF (ZHE) 311 10.6 61.4 1.0 0.4 12.6 14.1
VEYF (Z 1K) 56 11.7 57.5 1.7 - 1.7 17.5
95%7K#E O <AAZFfE=47729 pfE=0 BHE=12>
HEEHE R R E5fE 125 11.3 45.0 1.8 2.6 26.7 12.7
ISl 327 8.5 67.8 2.4 0.7 11.9 8.8
—E 1,757 5.6 80.6 0.9 0.3 6.1 6.5
95%7K#E O <AAZFfE=121.991 pfE=0 BHEE =8>
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